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Silas participated in a psychology experiment in which he was shown a series
of word pairs and was asked to rate them on the basis of how well they fit
together. Two days later, he was shown the same pairs of words, but this time,
one of the words in the pair was missing. Nevertheless, Silas recalls almost all
the missing words even though he was not asked to remember them. The type
of study that he participated in was most likely interested in the effects of

(A) priming (B) heuristics
(C) the law of effect (D) perceptual organization

. Speaking of human judgment and decision making, theorist Herbert Simon

has suggested that the '""bounded rationality" of human thought processes
results from
(A) the tendency of humans to be too constrained by past experiences.
(B) utilizing deductive reasoning rather than inductive problem-solving
techniques.
(C) applying limited resources to situations that require a quick response.
(D) the overwhelming evolutionary significance of language development.

. Which of the following is an example of retroactive interference?

(A) Your teacher finds it harder each year to learn and remember student names.

(B) Your ability to play the piano makes it difficult to learn and remember how to
strike the keys on a harpsichord.

(C) Now that you have learned your new locker combination, you can't remember
the old one.-

(D) Since you have moved, it has been difficult to remember your new ZIP code.

4. A woman is keeping her New Year's resolution. Every morning she makes a

list of what she is going to do that day. Then, she performs the tasks in order
of their appeal to her, doing the least appealing thing first and the most
appealing thing last. The woman is applying

(A) successive approximations.

(B) a schedule of reinforcement.

(C) response deprivation theory.

(D) a biological constraint.



- Suppose that laboratory animals are taught that a tone predicts food delivery.
Then, a light is added as a second CS and they are given additional trials
paired with food. If the animals now are tested with the light alone, they will

(A) salivate more to the light than when it was presented with the tone.

(B) salivate equally to the light as they did to the tone.

(C) salivate to the light, but less quickly than they did to the tone.

(D) not salivate to the light.

. Which of the following drugs does NOT belong in the same group as the
others?

(A) LSD (B) cannabis

(C) PCP (D) morphine

. The fact that people automatically use context to help decide between
different meanings of ambiguous words in sentences supports the idea that
(A) Freud's concept of repression is valid.
(B) language processes are not capable of being consciously influenced.
(C) processes that operate below the level of consciousness can affect behavior.
(D) rational beings have access to all of the activities of their own minds.

. Researchers have frequently documented the effects of context and
expectation on perception by studying set. There are three types of sets
(A) perceptual, objective, subjective.
(B) component recognition, perceptual, mental.
(C) perceptual, mental, and motor.
(D) component recognition, perceptual, motor.

- Ronald Melzack's neuromatrix theory of pain is based on the reality that

(A) pain radiates out from the central axis of the body and downward from the
head.

(B) the gate-control theory does not explain why some people do not experience
pain.

(C) people often experience pain with little or no physical cause.

(D) every painful experience has emotional as well as physical consequences.

10. Psychologists who study sensory processes are most likely to use signal
detection theory because it makes it possible to

(A) lower an individual's difference threshold.

(B) separate sensory processes from response bias.

(C) determine why an individual would be a "nay sayer."
(D) determine the single, true absolute threshold.
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11. A researcher is testing a young man for his visual absolute threshold. She

presents a dim light and asks him whether he detected it. The young man
wants to please the researcher, so he says "yes" every time she presents a
stimulus. A friend suggests she should use some catch trials. In other words,

she should
(A) have someone else present the stimuli in an attempt to catch the subject

cheating.
(B) present no stimulus at all on some trials.
(C) present a very bright stimulus on some trials.
(D) not record his responses on trials where a very dim light is presented.

12. Ali is trying to patch the nail holes on his wall, but he doesn't have spackle to

13.

14.

15.

cover up the holes. His friend, Omer, rushes to the bathroom and gets the
toothpaste. Ali looks at him very surprised and does not understand what he
is doing. Ali's failure to think that Omer is going to use toothpaste to cover

up the holes on the wall is an example of .
(A) functional fixedness (B) confirmation bias
(C) a natural concept (D) availability bias

Seven-year-old Ben is riding his bike to the park to meet some friends. He stops
at a stop sign and signals his intention to turn left into the park. Ben's memory of
the laws of the road is an example of  memory, whereas his ability to ride the
bike shows _ memory.

(A) episodic; semantic (B) semantic; episodic

(C) episodic; procedural (D) semantic; procedural

Lester is testifying against a person accused of robbery. Lester recalls with

precise detail the number of people in the bank and what they looked like,

the weather outside, and the song playing on the radio. He also provides

details about the bank robbery itself. If you are a juror, you should

(A) believe Lester's testimony because of its detail

(B) believe Lester's testimony only if he presents the details in a confident manner

(C) be skeptical of Lester's testimony because of what you know from research on
divided attention

(D) be skeptical of Lester's testimony because of what you know of implicit
memory

One day, a tree on the Lakewood Golf Course was hit by lightning. The
following weekend, Galen continues his golf game near that tree during a
thunderstorm because he is certain that lightning will not strike there twice.
Galen's decision is based on ____.

(A) gambler's fallacy (B) probability heuristic

(C) loss aversion (D) multi-attribute decision making
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17.

18.

19.

20.

21.

Jerry is deciding which of two women to ask out on a date. He lists the
positive and negative attributes of each woman: how attractive she is and
whether she has good table manners. Kramer tells Jerry that he should also
rate how much he values each of these attributes before making his decision.
This rating of the subjective value of attributes is called

(A) utility (B) expected value

(C) a schema (D) a mental set

Luis is on the jury for a highly publicized murder case. After hearing the
prosecution's evidence, he has decided that the defendant is guilty. The
defense provides several witnesses that place the defendant at a party during
the time of the murder. However, Luis ignores this evidence and continues to
believe that the defendant is guilty. Which obstacle to problem solving is

operating?

(A) confirmation bias (B) mental set

(C) multiple hypotheses (D) illogical reasoning

Belinda wants to record a record album, but doesn't know how to begin. Her

friend, Carlyle, says, "Why don't you start by deciding with whom you'd like
to work and then make a list of other tasks, so you can check them off as you

complete them?'" Carlyle is suggesting ;
(A) working backward (B) means-end analysis
(C) incubation (D) use of multiple hypotheses

Cinderella is excited about meeting a potential husband at the ball. Her ideal
suitor would have some of the following attributes: tall, dark, handsome, rich,
and good taste in glass slippers. At the ball, she hooks up with Prince
Charming, who has all of these features. Cinderella's set of characteristic

features for her potential husband is called a __ concept, and Prince
Charmingisa .

(A) formal; prototype (B) formal; schema

(C) natural; schema (D) natural; prototype

Psychoactive drugs achieve their effects in all of the following ways except .
(A) mutating neurotransmitter receptors

(B) blocking neurotransmitter receptors

(C) altering the release of neurotransmitters

(D) mimicking neurotransmitters

M7 F 41154 (primary emotion) 898 & > T o &Rl > T E#E?
(A)2~3 B A KRB AHHIHEME > RENBMFEEH LR
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(A) AREFHBELER (B) B K&y EMLE R
(C) AMABHBERER (D) XALE & ey B4 2

RERAG ERLENEHEHRTL  FEERFORELESHEG XY
P EAREAARTHANITA  SEBRTRA?

(A) £ B A4 4 47 % (prosocial behavior )

(B) xAft34k ( culture-training )

(C) #& 1t (socialization)

(D) # g # % (authoritative parenting )

B —ge A CRPCEARNEE A TH BB+, HF AR
#Hac RATATHEA?

(A) Bk %8 (pretend play)  (B) “F47% 8% (parallel play)

(C) 8 %A (selfregulation) (D) F¥ R & (empathy)

ARERE (XAM) FLELACESRELTHRE A HFLEEH RS
TAXRBRRZS N BRT XHEBERLTRE - LTREINFN R
TAE M HBRAIRE XHRBEFT—RDF - FHE > FEARZSEL
"R REBAGRS ?

(A) X#&ZHEE (B) M# ey 24

O maAZ—HRKHRES (D) #& 7% ¥y

NABRHARAERGRA BB R ENEFHETHEEEL LB —H%
ABRRBBEFTE  HHFAC "HEETHRRF T ETREBR - &
BIHEL—ERXROFHMBRACHZRALZERS  JAMKRGHBRIER
R By f ?

(A) FIRAEZEE RS (B) 54k 2 E R

C) BREGHE RS (D) #4156 B R%

R NER—EEEER " BRIy (repression) | BATMFISA > kb T RTH
CHETHR—FERR?

(A) R BHRAMAFTARBEREZESHESN

(B) R EMHESABERE

(C) BT amFEissleAy L

(D) HEFHEEZERERBA

NRBBEE—BREHFEEHNA -HARHRE - FALTHA? ZFREK
A B % A#%E X (five-factor personality model ) » N3k 22 9F — 38 AR H &4
o BB ?

(A) %X & (agreeableness ) (B) &% F# M+ (openness to experience )
(C) A4 H (neuroticism ) (D) 4+ tE (extraversion )
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A ABREREHE EEWLGEAHG CERRE  BEHRS 1 A
BeRRBEINRE WAHRGFONEREL CRELERE  #%
BRRREBI AR AR GYE o RFBMOEPEHL 0 THRELRRT
1B LR ?

(A) #E3% (B) 32 E) H g
(C) &4 3Eh (D) AAE £
THHR—EAKRER > FABENZSEGERER?
(A) K-H-T-P (B) DAP

(C) DAPR (D) CAT

NRAFRE—NMRBEEL  "NREASLABTEENBARY  KRE£
%-R%H# KX (diathesis-stress model) > FHH—#EEN " HEH | B LR
‘Elﬁ‘iﬁﬁ ?

(A) RAEHEZ CIELE (B) AR5 — 1B £ 13 £ % 69 454

(C) BBIEFRAR A FH (D) #: % 5 #k

FHAH—ECEEE  FEANERE ?

(A) Panic disorder (B) GAD
(C) Body Dysmorphic Disorder (D) Specific Phobia

ERBAEHAE T > BATRAEBE (illness anxiety disorder) % ¥ £&5%
& R B BT ?

(A) 12 X33 (B) #4oin dh

©C) BReehdFEohse (D) EEAR

KRELABRREEFE  BAENBRFTEBEMAART THEX S22 4 H
B I ER  FEINRARE  TRAEFEELPERGOFR  AERKRK )
FHREHER - | BEMARA  TERATR—REELHASEKR?

(A) Delusions (B) Loose associations

(C) Neologisms (D) Thought insertion

THAR—MBEK  "TEASLS BRY ALK E (narcissistic personality
disorder) &40 ?

(A) #FrgHi s (B) a2 g
(C) &B# D) FXBERERM

MPaRATHA > FTRHR—ERERE " 25, ?

(A) BRATAHBTAERE

B) FHHHBCEEROA EERBEHLRCETRATH
C) £6M  HHABRYBITRLENRS

(D) MHEMELE > hETRERS 8 RBITE
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FTRE % % R B RS LB RE=MEA AAEEHMER - 22% 5 FHE
REKXBEAB AL BRPATHFEMN - MACEEHMAE > LAEEGHIT
B Al SHEAEFTHR—EBA FMEFFEALEBERGHESK &
TBETH LR —ASERE?

(A) Bipolar I (B) Bipolar I

(C) Cyclothymic (D) Major depressive

SRR EREAER ABREIE-RER - A EFZRGHK
£ NERA AT AEIA  NASUNE TRTHE | AFEAR AL > X7
HARFRR?

(A) Hippocampus (B) Reticular formation

(C) Cerebellum (D) Thalamus

E—EAARAERLT > THAR—BRF  "EXe, BRELEHEAY
%3 A ?

(A) R RARENE L

(B) BHEAF ZH LA AR B4 E SRR

(C) #riM#EA 4B B ey B A

(D) s FH X P T8 e B 47

NERBANBHCEGHEEREN NAFR R - - B9 EY >
BUAASEBZHCEGEZTFAAN 20 B0 B EEZRT—#HOEE
% ?

(A) ZIIREP % (B) # %

©) # & (D) & &6 B 4437



